
Ih=1,54 m2
I=6,04m2
Hb=3,40 m'
N t1=1,03m2

Ih=1,79 m2
I=6,63 m2
Hb=4,25 m'
N t1=0,97 m2
N t2=1,93 m2

Ih=2,04 m2
I=10,04 m2
Hb=5,78 m'
N t1=1,05 m2
N t2=1,91 m2

Ih=2,00 m2
I=10,11 m2
Hb=5,61 m'
N t1=1,08 m2
N t2=2,01 m2

Ih=1,82 m2
I=6,61 m2
Hb=4,15 m'
N t1=1,12 m2
N t2=3,41 m2

Ih=1,31 m2
I=2,31 m2
Hb=1,68 m'
N t1=1,04 m2
N t2=2,65 m2

Ih=1,85 m2
I=7,98 m2
Hb=3,47 m'
N t1=1,07 m2
N t2=3,40 m2

Ih=1,64 m2
I=4,16 m2
Hb=1,59 m'
N t1=1,03 m2
N t2=3,72 m2

Ih=1,77 m2
I=11,61 m2
Hb=2,38 m'
N t1=1,09 m2
N t2=4,77 m2

Ih=1,75 m2
I=4,45 m2
Hb=1,38 m'
N t1=0,95 m2
N t2=3,93 m2Ih=1,92 m2

I=13,24 m2
Hb=2,82 m'
N t1=1,06 m2
N t2=5,04 m2

Ih=1,25 m2
I=3,36 m2
Hb=1,00 m'
N t1=0,68 m2
N t2=2,96 m2

Ih=1,01 m2
I=2,61 m2
Hb=0,90 m'
N t1=0,49 m2
N t2=1,81 m2

N t2=1,93m2

Nasip=0,43 m2

Nasip=0,46 m2

Nasip=0,39 m2

Nasip=0,28 m2

Nasip=0,28 m2

N(0-100)=0,26 m2

N(0-100)=2,04 m2

N(0-100)=0,44 m2

377.070

BETONSKI
JAŠEK
fi 100

BETONSKI
JAŠEK
fi 100

vtok

376.370376.350

377.050

Razbremenilna cev

Dušilka
iztok


